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Directions: Read the pdssage below and examine the diagram. Then answer the questions.

A rain shadow is an area that receives little rainfall because it is on the down-
wind side of a mountain or mountain range. When winds encounter a moun-
"tain, air is forced to go up-and over the mountain. As the air rises, it expands and
cools. Cool air is unable to hold as much moisture as warm air, so the moisture
~often condenses, forming clouds. Precipitation then falls from the clouds on the -
! . upmnd side of the mountain.
B ' As air moves over the mountains and begins to descend on the downwind side,
' it becomes warmer. Clouds do not form easily in the warmer air. Because the
warm, dry winds on the downwind side of the mountains produce very little
precipitation, this area is called the rain shadow. In some parts of the world, rain
shadow areas have become deserts because they receive so little rainfall. Califor-
nia’s Death Valley is part of a rain shadow.
The following diagram illustrates how a rain shadow occurs.
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Activity 2 (continued)

Multipie
Choice

Short

Answer

1.

What causes clouds to form on the upwind side of mountain ranges?

- a. The warm winds cause moisture to condense, forming clouds,

b.” The mountains keep the air from circulating, forming clouds.
¢. The strong winds push the air into the mountains, forming clouds,

- d. The air rises and cools as jt hits the mountain, forming clouds. ,

Land in a rain shadow area most likely would
a. be covered with thick forests,

b. be desert.

¢. have many lakes.

d. be used for farming,

Why did the author write this Ppassage?

a. to discuss how clouds form :

b. to tell how deserts are formed

C. to.give information about rain shadows
d. to explain how mountains affect weather

Which detail is NOT supported in the passage?
a. .Some rain shadows are deserts, )

+b. Death Valley is in California,
€. Air cools and expands as it rises,

d. The downwind side receives more prekipitation,

What three questions could you ask someone to determine whether
they live in a rain shadow? '

Do you thiﬁk a written explanation or a detailed drawing is most
useful in explaining rain shadows? Explain, '
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Question 1 of 12
Which of the followmg numbers is not a rational number?
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Question 2 of 12

Which of the following 1s not a rational number?
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A. 19.28479..
B. =71

C. 314

D. 14

Question 3 of 12

Which set of numbers is in order from least to greatest?
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A -12,1 £ JTe 5, 33, 50%
B. -12, 50%, ,5,120 35
() JI—" 5
C. 50%, -12, , 1 l@, 5,3s
(i} f 5

D. -12, g, 50%, 5, | 2_2? 33




Question 4 of 12

Order these numbers from least to greatest.

L 75%, .04, 10%, =
4 7

A. .04, 10%, 1, 75%, 2

4 7

B. 1,.04,10%, 2, 75%
4 7

C. 75%, 2,10%, .04, 1
7 4

D. .04, 1, 8. 10%, 75%
4 7
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Question 5 of 12

What number line represents the correct order of the following?
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Question 6 of 12
Classify the number.
5%
-4
O  A. whole number
QO B. rational number
O C. irational number
O D. repeating decimal




Question 7 of 12
Given the number line below, which letter would represent the best approximation for , fzg ?
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O A. PointA
O B. Point B
O C. PontC
O D. PomtD

Question 8 of 12
A 7 B C D E
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Find the negative square root of 64 and then identify the point on the number line that represents that
answer.

A. pomt A
B. point B
C. pont C
D. pomt D
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Question 9 of 12
Which of the following numbers is represented by Point P on the number line below?
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Question 10 of 12
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Which point best represents the location of the square root of 6 on the number line above?

A. point B
B. point C
C. point D
D. pomnt E
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Question 11 of 12
f112 is between which two whole numbers?

A. 7,8

B. 9,10
C. 10,11
D. 111, 113
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Question 12 of 12
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Identify the correct representation of the given number.

A Z
B. T
C.l
D. A
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